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fAM: 2=
Hu: MY XE
oot ARM 22X 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
305 Hal=s 3,000 3,000 0
01 Hia=S 3,000 3,000 0
Oaat22 =X& FJ&axdg 247
3,000,000& 3,000
401 Al HI K 201 I 230,000 172,000 58,000
01 A& Hl 230,000 172,000 58,000
OaRer2tEot A 2|22 100,000, 000& 100,000
OAQa2ZX T AZFZAH(410m)
80,000,000& 80,000
OAQa2ZI A2 FXE=(POOL)
50,000, 000& 50,000
405 RHoHE S HI 5,000 0 5,000
01 AL EZFH S 5,000 0 5,000
O24r2tZotfA EIEIE P (HA, AR
g) 5,000,000& 5,000
ALSI oM G ol et REALY (A& 2X]) 75,000 0 75,000
401 A& HIZ 201 I 75,000 0 75,000
01 A& HI 75,000 0 75,000
OA24er2t2 Xl CCTVAE XI(5JH4)  75,000,000& 75,000
AL2HMESE S 2a 103,573 96,000 7,573
101 14l 3,165 0 3,165
04 JI2ZtHZ22XREES 3,165 0 3,165
O0eglolzd H#A & 22| A28 (1Y) 3,165
-Jlg=a 1,582, 130& «2& 3,165
201 Let24E] 64,408 61,000 3,408
01 At 22l 14,408 11,000 3,408
O0EoI22 E=s0(FEEEF)ANE Iz
5,500,000 *20H 2 11,000
ONEoIZd =018 SSHE 2=z
275,000 124 3,300
OS2=s01E =ZZA =8 21,500& *53] 108
02 =24l 50,000 50,000 0
OZ2dze 333 15,000, 000& 15,000
ONe o3& S=s0lAd 29 35,000
=08 28 24 20,000,000& 20,000
-250lAE FXNE= 15,000, 000& 15,000
401 AIEHI L 201 35,000 35,000 0
01 A& HI 35,000 35,000 0
ONegolEsd ANd= ®A2e 20,000,000& 20,000
ONelo3d M=z & 2Z 2k
15,000, 000& 15,000




2N
X ZH -
L= B

el

B~ & Mo

=}
2ae A
QU 2EX 29

SN HH-S(BN) - MBAY - B il HlnE2
405 XHoHF S HI 1,000 0 1,000
01 XY 2 ZFH S| 1,000 0 1,000
OxE(ReMFHAL +202=s5)F5FH)| 2L
1,000, 000& 1,000
Sotd A oty Hlae 1,307 0 1,307
= 654
Al 653
201 Let249y| 1,307 0 1,307
< 654
Al 653
02 3323l 1,307 0 1,307
OA24r22XNH SESHEA ot Hlad |
2l (490 &) 1,307,000 1,307
< 654
Al 653
&b 22X IR 2 528,000 136,000 392,000
Xl 264,000
Al 264,000
2 e 528,000 136,000 392,000
Xl 264,000
Al 264,000
401 AIEBIZ 201 8I 528,000 136,000 392,000
X 264,000
Al 264,000
01 A& Bl 528,000 136,000 392,000
OL4ek22 X N 528,000,000& 528,000
Xl 264,000
Al 264,000
g8 gd2Fd 203,900 141,900 62,000
Xl 20,000
Al 183,900
2ZE2 2 163,900 141,900 22,000
201 L2l 154,900 132,900 22,000
01 At 22l 154,900 132,900 22,000
OZ2otUHE [ 500& *35,000% 17,500
OZFEEBS(MH ) M=
5,000,000& 5,000
O2+ZoHLH 2 X} Al 1,200& x17,000% 20,400
oz - =M 82 65,000,000& 65,000
Ogtztsl 2RRA
45,000,000& 45,000
OZasihg o 2,000,000 2,000
202 odl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
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2A: 2SH=
M oMY A=
el 222 Y (9 ® =)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
-HelolsEs 28 29 45,000
ZEIoH 2l EX ME 200& *50,0005 10,000
CEBEZ2E ME 4,000& x5 *500H 10,000
B E2 NE HE 100& *50, 0005 5,000
WEITZ )M OHW X M
200& *50,0005% 10,000
- 20lEZY 21 2,500, 000& ~4LH 10,000
- EAMAN 2Y 2,300,000& 2,300
220915 28) €2 =42
12,600,000& 12,600
Ot dA3 89 180,000
-S M&E Al 11,000
HAIHASE 2,000,000& *43| 8,000
CEMNH 3,000,000& 3,000
“MANMA 29 50& *5&*40,0005% 10,000
-AEEMA BH= B2 110,000
MA2E ME 10,000,000& x8= 80,000
HAIG A HE 15,000,000& x2= 30,000
Ore & ZzNE 20,000,000& *2& 40,000
~SHDOI0IE T2 29 3,000 *3,000H 9,000
ogtg& Magus 29 124,250
-Sgz=z)d 29 38,000,000 38,000
-Fotzz0d 29 10,000, 000& 10,000
—-Green Kids T2 24 10,250,000& 10,250
-School T2 29 21,000,000 21,000
-2 JIE T )H 29 26,000, 000& 26,000
=2 Ui T2 2H 19,000,000& 19,000
OAagotd™ dgtte] =25  3,300,000& 3,300
02 352494l 229,768 209,851 19,917
OVl 2,528 A4SSESIE , AHYUAIER
S5 1,200, 000& 1,200
OZHOIXN KX 6,292,000 6,292
Odsty L JgssE KA
451,000& x12& 5,412
OCCTVAIAE X2 14,500,000& 14,500
Ox&ER XYl 5,000,000 5,000
OdIIe= 50,000, 000& 50,000
OZAIAR2 23,000, 000& 23,000
Oa - o3 9,000,000& 9,000
OdI|etE e S KAl 5,000,000& 5,000
Os&&Jl & KAl 6,000,000 6,000
Oogtsa & ABotd &3l 3,100,000& 3,100
O&Al4A ¥ =0H B85 500,000& 500




fAM: 2=
Mo BN IE
e S22 oY CEE-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz & A = Xl bl 25,000,000& 25,000
O&AlE |X 33,100,000& 33,100
O=NEESL MHlA Ol8=
608,870 128 7,307
OUERZ &Y 2 (ARIX &)
54,6703 +12& 657
Onmere st Ad0lg2
1,100,000& 122 13,200
ogtsa 4o e 20,000, 000& 20,000
o83 & 1,500,000 1,500
03 A2 E HI 32,000 33,000 A 1,000
oogolersa Ol 2 & X 22,000,000& 22,000
O3dZ=zd 29 (43]) 10,000, 000& 10,000
202 4l 7,000 6,000 1,000
01 2401 Hl 7,000 6.000 1,000
OofRloseR AREH U NELE
,000,000& 7,000
206 = Hl 7,000 7,000 0
01 MHZ 4l 7,000 7,000 0
OXZEALS =7 4,000,000& 4,000
O&AlY & ANE Z 72g 3,000,000 3,000
301 et a3z 7,000 18,600 A 11,600
09 &AL HIZB &S 1,000 0 1,000
OX& S ALA 1,000, 000& 1,000
NJIEEd=s 6,000 18,600 A 12,600
OX& S A = 10,0003 x20H «30 6,000
307 glz2+ol & 668,100 548,000 120, 100
05 RIZt2IE = 668,100 548,000 120, 100
oogRE 1(179) 668,100,000 668,100
405 XtatFE SHI 6,250 16,800 210,550
01 XA = ZFH SHI 6,250 6,800 A 550
OdANNEEs tES 7Y 1,500, 000& 1,500
OWAAAH 2 2,000,000& 2,000
Oo3pPEEH 7Y 2,750,000& 2,750
Zatssd 2 &8 2,550,310 1,669,613 880,697
= 260,451
< 239,929
Al 2,049,930
SHIst=s s X 910,960 558,610 352,350
< 202,750
708,210
otz 3= 28,000 28,000 0




fAM: 2=
My 250a84 ¥ AE
Sl BelSs0z 25 NS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 6,000 6,000 0
01 At 22l 3,600 3,600 0
ONESAS BB 2g
100,000& 6 * 12 600
OFstil=adA 228 & XA 3,000,000& 3,000
02 2324l 2,400 2,400 0
OOl dIIL3 S(3HA) 2,400,000 2,400
202 Odl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
OZsttl=adAl =& & ==& 2,000,000& 2,000
401 Al HIZ 201 I 20,000 20,000 0
01 A& HI 20,000 20,000 0
O2stoll=Ald 224l (PO0OL) 20,000,000& 20,000
SESA3 HEKA 20,000 17,250 2,750
307 21201 A 20,000 17,250 2,750
04 QIZFHALAIRH B = 20,000 17,250 2,750
Oosds%a MK 20,000,000& 20,000
SATHBE 5 4&3H HE NE 9,000 6,000 3,000
307 21201 A 9,000 6,000 3,000
04 DIZHHALALSE E X 9,000 6,000 3,000
Oxnl sotel 252 & A 2sX2
9,000,000& 9,000
ROott=e 2stgs XA 48,260 48,360 A 100
= 9,650
Al 38,610
201 2et2d]| 48,260 0 48,260
< 9,650
Al 38,610
03 &AL Z I 48,260 0 48,260
OX0tit=e E3tgs N 48,260,000 48,260
< 9,650
Al 38,610
A4 HE =X 103,000 93,000 10,000
307 gl & 103,000 93,000 10,000
04 DIZHHALALSE E X 103,000 93,000 10,000
OAL24 sUHSOIEH 78,000,000& 78,000
OALQSE3HA 25,000,000& 25,000
Helzg u= ds 20,700 0 20,700
< 5,400
Al 15,300
201 Let24d] 20,700 0 20,700




fAM: 2=
Hu: 23 0e84 Y WS
Sl BelSs0z 25 NS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,400
Al 15,300
03 &Ar2 I 20,700 0 20,700
02018 Helzu20= (18 ,1¢23])
20,700,000& 20,700
< 5,400
Al 15,300
s&& SHAEEY Hz XA 500,000 250,000 250,000
= 150,000
Al 350,000
307 glz2+ol & 500,000 250,000 250,000
< 150,000
Al 350,000
04 QIZFHALALH E = 500,000 250,000 250,000
OSDIZHNSEHSAS (& HAEYE S)
500,000,000& 500,000
< 150,000
Al 350,000
SAS A OHE KR 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
O&AI S 23 =l X 20,000,000& 20,000
ZIJIE Ot0t= A3 M EIHXA 9,000 0 9,000
= 2,700
Al 6,300
307 glz2tol & 9,000 0 9,000
< 2,700
Al 6,300
04 QIZFHALAIH E = 9,000 0 9,000
OdJIx Ot0tF0l =M FIHXE
9,000, 000& 9,000
< 2,700
Al 6,300
EAAANE H=HE A 3,000 0 3,000
307 glz2tol & 3,000 0 3,000
02 It MAHEE 3,000 0 3,000
O2A2NHS =M ua 3,000,000& 3,000
2AAFS (FALISO0l) M= 4,000 0 4,000
307 21201 A 4,000 0 4,000
04 QIZFHALAIH B = 4,000 0 4,000
O=2YL=0l M=l XA 4,000,000& 4,000
fcldS =3 sotg 2&A 3,000 0 3,000
307 21201 A 3,000 0 3,000




fAM: 2=
My 250a84 ¥ AE
Sl BelSs0z 25 NS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 3,000 0 3,000
ORI S 23t &toty 2 &R 3,000,000& 3,000
A ZEUHE HE XA 5,000 0 5,000
307 glz2tol & 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
O=d&tal Hal XA 5,000,000 5,000
SFHELEHAAEDX MESAS HE XA 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZFHALAIH B & 5,000 0 5,000
Od =323 Mzl X& 5,000,000& 5,000
Lo & HAE ABA O XN 4,000 0 4,000
307 gl2tol & 4,000 0 4,000
04 DIZHHALALSE E X 4,000 0 4,000
OABHELAHAEZ HIIAFF 4,000,000& 4,000
0E <3 Mzl X3 4,000 0 4,000
307 g1zl & 4,000 0 4,000
04 QIZFHALAIH 2 = 4,000 0 4,000
OuES%3 M=l K& 4,000,000& 4,000
#3390 |3 ¥ Wz & 25,000 0 25,000
201 Let24E] 25,000 0 25,000
03 & At2 I 25,000 0 25,000
Osgtzd  &s5=2 s NE =348 =X
25,000,000& 25,000
SLSHAEIA FUH HE ZE2HE HEl N 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 QIZFHALAIH E &= 30,000 0 30,000
OseHZISE 22U MHE 2ZHE Mzl X
2 30,000,000& 30,000
Ol &Mote 843 Mzl XA 20,000 0 20,000
S 10,000
Al 10,000
307 glz2tol & 20,000 0 20,000
< 10,000
Al 10,000
04 RIZFHALAIH E = 20,000 0 20,000
O8NIzd NEEY ML (0IZ2UENI= Sa
Z) 20,000,000& 20,000
< 10,000
Al 10,000
SHEMNME ME XA 50,000 0 50,000




SN 2HSD
M 2oozss4 2 dE
Sl BelSs0z 25 NS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 25,000
Al 25,000
307 glz2tol & 50,000 0 50,000
< 25,000
Al 25,000
04 QIZFHALAIH 2 = 50,000 0 50,000
OBl NISEHAMA(E?HIZNE Mal X
) 50,000,000& 50,000
= 25,000
Al 25,000
&5 XY 235 g3 X3 1,146,000 897,535 248,465
2 260,451
< 27,779
Al 857,770
ZEUEES0 es=EH XA 27,000 0 27,000
307 gl2tol & 27,000 0 27,000
04 DIZHHALALSE E X 27,000 0 27,000
OZEUESH0l UEX=0=FH K& 27,000
-HAI2E 3 7,000,000 7,000
-SFRdH XA 2,500,000 <84 = 20,000
HRAZZ X M 40,000 0 40,000
307 glz2tol & 40,000 0 40,000
04 QIZFHALAIH E = 40,000 0 40,000
ONsAZTZ X 40,000,000& 40,000
ANEd=st 29 X2 6,000 0 6,000
301 YU B A 6,000 0 6,000
V=t - 2SRES243 6,000 0 6,000
OAglst 2 S #AAH X2
6,000,000& 6,000
Ngsas 29 2 12 207,500 146,300 61,200
301 et d = 207,500 146,300 61,200
Vst - 2sR2SE43 207,500 146,300 61,200
Oogaos 243 204,000
Xl 2 Xt 1,100,000& »12& 13,200
-gh=1 800,000& »12& 9,600
=g 600,000& »12& 7,200
-HEA(HEEX) 500,000 x29 x12& 174,000
OAES ANRES ¥ 1,500,000 1,500
og= g 2 =4t 2,000,000& 2,000
NBstae Do 3,000 3,000 0
201 Let24E] 3,000 3,000 0
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EX: S3Hs
HH: Stz & ME
e Mg X% 23 g5 NE (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
-ABE2 5,000,000& 5,000
=3=<Hd 4 A& 67,760 56,200 11,560
307 giztol & 67,760 56,200 11,560
03 IZIHEHESIHIEX 67,760 56,200 11,560
OsFdlsEs 2284 8 N 67,760
—OIAHI (AR Z2F) 34,080,000 34,080
—OIAHI (AFE2XHE) 25,680,000 25,680
A28 2 5,000,000& 5,000
-AMNRARAY S 3,000,000& 3,000
ESRHSHEOEAH(2552]) 378,980 315,835 63, 145
= 260,451
= 17,779
Al 100,750
307 QI2t0| & 378,980 315,835 63, 145
= 260,451
& 17,779
Al 100,750
02 AI2AtAMAIE E =X 378,980 315,835 63, 145
Osgesosd AtY 378,980,000& 378,980
= 260,451
< 17,779
Al 100,750
SE& AlCldlsUis 249 25,400 25,400 0
307 2Iz2t0| & 25,400 25,400 0
02 DIZHBAAIRE E X 25,400 25,400 0
OsSH&ALM=HE 25,400,000 25,400
Ol 2K &2t 4,000 4,000 0
307 2iz2to| & 4,000 4,000 0
02 QIZFA AAIE E X 4,000 4,000 0
OO0t 28 22tAY 4,000,000& 4,000
AR ESHA| g2t 4,000 4,000 0
307 QI2t0| & 4,000 4,000 0
02 QIZ2IA AAIE E X 4,000 4,000 0
OAR I8 22EALY 4,000,000 4,000
SsAIY K& 10,000 7,000 3,000
307 QI2t0| ™ 10,000 7,000 3,000
02 QI2tAMAIE E X 10,000 7,000 3,000
O2stAMY K& 10,000,000& 10,000
S&d 244 Ols0HA 5,000 4,000 1,000
307 2I2t0| A 5,000 4,000 1,000




5 - 4
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
04 SIZ2ISHAAIH E & 5,000 4,000 1,000
Ossd 344 0lsUid 5,000,000 5,000
FEOHLIGIOIAE HAEE HEl X 5,000 5,000 0
307 gizto| A 5,000 5,000 0
04 CIZ2tSHALALSE B = 5,000 5,000 0
Os&d JIE0LIMOIE HAEE Mz K&
5,000,000& 5,000
SH232H iz X 2,000 2,000 0
307 2iz2tol A 2,000 2,000 0]
04 QIZ2tSHALALS B X 2,000 2,000 0
OY=3dd Mzl X 2,000,000 2,000
ANEE 89 & 2,000 2,000 0
307 QI2t0| & 2,000 2,000 0
04 CIZ2tSHALALS B = 2,000 2,000 0
OsNMEzd 39 & 2,000,000& 2,000
MESSIHEH 2HEMHS 7,400 5,400 2,000
201 et 9| 5,400 5,400 0
01 AP 2t 2| bl 3,400 3,400 0
Ogttf=2y| 3,400,000& 3,400
02 2=2=24%4| 2,000 2,000 0
O&IIIE2 S 2,000,000& 2,000
405 XHoHFE S HI 2,000 0 2,000
01 AL 2B F S| 2,000 0 2,000
oo g g ugdeE 5 22 2,000,000& 2,000
=2 A& 228 JfF X 22,000 0 22,000
307 2Iz2t0| & 22,000 0 22,000
02 QIZFE AAIE E X 22,000 0 22,000
ON= AN B2& Mzl XS 22,000,000 22,000
AQleE R4 HEsiE2d 29 490,350 211,468 278,882
& 9,400
Al 480,950
RSBz 29 206,017 156,968 49,049
101 Q124 H] 59,567 4,174 55,393
04 JI2ZtHIZ2 2 NEES 59,567 4,174 55,393
O%el HEXY o BAFY ARy
60,560 22 20 2,423
OHEH +2HNNY oL
60,560 2 20 2,423
OF A2 (F52) (1Y) 20,154




2N
X ZH -
L= B

el

SHAl = o

solzsd o
Al O] = Il,C)Jk
=2 A TT T

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

-JleEs 1,582,130& x11& 17,404
“ANZ2t 22 E 11,360 22 Al 2tx 118 2,750
OOE & O 34,567
A==] 60,5603 x3H x1452 26,344
-=FE 60,560 *3H x50==+0.6 5,451
- MG Al 80,0003 «3&H*11&+0.6 1,584
-wE 2 A 60,0003 *3H*x11& 0.6 1,188

201 LBt2E | 144,450 118,350 26,100

01 At 22l 45,600 25,500 20,100
OYs22g MRl 10,000, 000& 10,000
ogsa 2228 MH 5,000,000& 5,000
OFANES JI&s2d g8 5,000,000& 5,000

Ost&Ea SXZel & 4285 7+

3,000,000& 3,000
o293 #F& 1,000, 000& 1,000
odsa AdUlAF A 10,000, 000& 10,000
OxZdE572 ¥ |2l 4,000,000& 4,000
OFEAMNBAZHAIAE 29| 3,200,000& 3,200
OFMALASE HEZ 1,200,000 1,200
Odstae =2 1,800,000& 1,800
O&=J & dld2eltl 1,400,000& 1,400

02 8323l 80,850 87,850 A7,000
ORERS L Adeds Mz 300,000 300
OXg =Xl 5,000,000& 5,000
O&Il=z 30,000,000& 30,000
O&Jletd & 52J1 S |XAH 10,000,000& 10,000
Oz & A2%otM 3l 550,000& 550
Od2 & AIZEH KA 20,000,000& 20,000
O&AlE SX2celbl 15,000, 000& 15,000

03 A2 Z Hl 18,000 5,000 13,000
OogtEa HEG0 S dAN2Y 18,000, 000& 18,000

202 oddl 2,000 2,000 0

01 = LH o4 1l 2,000 2,000 0

Odstdt=2 2= & Uz8

2,000,000& 2,000

NResHUSY ALRS 253,000 54,500 198,500

206 M= Hl 6,000 7,500 A 1,500

01 =8l 6,000 7,500 A 1,500
XZ8 48 ¢ H=z7¢ 3,000,000& 3,000
OdAA &L OFAEANE 22 3,000,000& 3,000

401 A& H L= OH bl 247,000 47,000 200,000




2N
X ZH -
L= B

el

Z M = ot
Estll=sd & &=
HWaAse N3t E

]
M0

&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 247,000 47,000 200,000
OLget22 MH™I|IEH WA &
200,000,000& 200,000
OLs22 OIATAIEL A &K
25,000,000 25,000
OS2 MAHE = B2 &X
22,000,000& 22,000
JEFASH(XNE250s EHE SHAY) 31,333 0 31,333
== 9,400
Al 21,933
201 gBt2Ay| 31,333 0 31,333
= 9,400
Al 21,933
03 SHAI2 G HI 31,333 0 31,333
Oets2 J1& &Al3 M= 31,333,000 31,333
= 9,400
Al 21,933
A HUMHS LI 3,000 2,000 1,000
SEHAHNY=S £=H & HII 3,000 2,000 1,000
201 LBt ]| 3,000 2,000 1,000
01 AP 22| H| 3,000 2,000 1,000
Ogx=JdEs Heldl= 3,000,000& 3,000
S22 2 2= 497,104 98,200 398,904
= 96,652
= 106,206
Al 294 246
23 X2 € 29 449,304 75,000 374,304
= 96,652
= 103,326
Al 249,326
SFtESA 22| 21,000 21,000 0
201 LBt Y| 1,000 1,000 0
01 AP 22| d| 1,000 1,000 0
OBESIAMESANE S Basy
100,000& x5 x23| 1,000
401 AlEHIZL 2 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OSERA el & HHl(100HA)
20,000,000 20,000
SFEAIZES 29 21,000 24,000 A 3,000
201 LBt 15,000 15,000 0
01 AP 22| H| 5,000 5,000 0
Ogbt424| 5,000,000& 5,000




fAM: 2=
FM: FoMg=E € BE
&?: 23 sX2e ¥ 23 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 10,000 10,000 0
o&lIega € 213 10,000, 000& 10,000
301 et a =z 6,000 9,000 A 3,000
MIIEBE4d3 6,000 9,000 A 3,000
OEAZZ NEASAX 24
10,000 »2H »300 6,000
S5 =2 29 30,000 30,000 0
201 LBt 12,000 12,000 0
02 2324l 12,000 12,000 0
Od=2 X2l 1,000,000& 122 12,000
307 21201 A 18,000 18,000 0
02 It S AHE L 18,000 18,000 0
o=zt 29 18,000, 000& 18,000
M STHAIAE SAE = 13,304 0 13,304
= 6,652
< 3,326
Al 3,326
402 2I2H X201 M 13,304 0 13,304
= 6,652
< 3,326
Al 3,326
02 QI EALS EZ (01X ) 13,304 0 13,304
OFSAE ZTHAIAE KRXE= 13,304,000& 13,304
= 6,652
< 3,326
Al 3,326
HSAE BTl AHY 180,000 0 180,000
= 90,000
< 45,000
Al 45,000
402 RI2EXt20l ™ 180,000 0 180,000
= 90,000
< 45,000
Al 45,000
02 RIZEXt 2 AL EZ (OIS ) 180,000 0 180,000
OFSAIE B2FHl MNP (LF2E%)
180,000, 000& 180,000
= 90,000
< 45,000
Al 45,000
LAY X & EAY 184,000 0 184,000
< 55,000
Al 129,000
402 RIZ2EXt20l ™ 184,000 0 184,000




AN 23HSD
g = ¥ 2&
el 23N fA2el R 29

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 55,000
Al 129,000
02 BIZtXIEANYEX(0OIETHH) 184,000 0 184,000
ONEAMNE ASIAIE X YL BLAISE(24M
g o M8 AX|) 184,000,000 184,000
& 55,000
Al 129,000
E3M HsE2s N 47,800 23,200 24,600
= 2,880
Al 44,920
Al REHESN ds8s NS 38,200 23,200 15,000
307 2iz2to| & 38,200 23,200 15,000
02 DI AAIE E X 38,200 23,200 15,000
OdlE2ddx 8s5AY 10,000,000& 10,000
OSSHd 2R HSAY(Al) 13,200,000 13,200
OO0IEZEZZ2 ESAY 15,000,000 15,000
T LEESM dsg2s A 9,600 0 9,600
= 2,880
Al 6,720
307 2iztol & 9,600 0 9,600
= 2,880
Al 6,720
02 QIZ2IA AAIE E X 9,600 0 9,600
OEXE 2= &8s N
9,600,000& 9,600
= 2,880
Al 6,720
Mot 4 3,734,120 1,972,901 1,761,219
Xl 815,000
J| 179,000
& 74,940
Al 2,665,180
HEAE =4 2,077,500 381,600 1,695,900
Xl 815,000
Al 1,262,500
H=SAE HH] 447,500 381,600 65,900
201 Bt 4d9H]| 15,000 15,000 0
01 AP 22| H| 15,000 15,000 0
OMSAEES 2el & 2948 A)
15,000,000& 15,000
401 AlEHIZL 201 Y| 432,500 366,600 65,900
01 Al&H| 430,000 365,000 65,000
OMESANEE X & MHEX 430,000
MR AEX(7THA) 171,000,000 171,000




2N

X ZH
S =

el

Z M = ot
CHEMY =54
HSAE =4

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-HH 2 B2(13M4a) 214,000, 000& 214,000
-S X2l (4800 4 ) 45,000,000& 45,000
03 Al =2 0HHI 2,500 1,600 900
OM=sAEE 44X & HES 2,500,000& 2,500
SHBTRNNL (MAAUTE DAY AFY) 1,630,000 0 1,630,000
Xl 815,000
Al 815,000
401 Al HI 2 2B 1,630,000 0 1,630,000
X 815,000
Al 815,000
01 A& HI 1,624,200 0 1,624,200
odtotglZz= A2+FHl At 1,624,200,000& 1,624,200
Xl 812,100
Al 812,100
03 AIE 20 HI 5,800 0 5,800
OdtotgZz= A2-FH At 5,800,000& 5,800
Xl 2,900
Al 2,900
M=tHal & 537,500 542,500 A5,000
MU s&8XA 312,500 309,500 3,000
202 O4dl 2,500 2,500 0
01 = LH 4 Hi 2,500 2,500 0
OxM=szzgs g2 =& 2,500,000& 2,500
307 21201 A 310,000 307,000 3,000
02 IAHFAAHFEX 310,000 307,000 3,000
OM29zl ZI1&E MEMSU=SHE &H
100,000, 000& 100,000
OHMe64sl I M=Us & 90,000,000 90,000
OZEXADI 2 Eo&I| B2E MU =&
51,000,000& 51,000
O&dJE & &3 MENsUs &8 &d
36,000,000 36,000
OZJ& Zofel MeH=sis =d
10,000, 000& 10,000
O&dJI= #oHe M=Us =& 10,000,000 10,000
OHe 5= MUz & d=0z sd
13,000, 000& 13,000
e 2 MTBCHE! JHE K& 85,000 80,000 5,000
307 glz2tol & 85,000 80,000 5,000
04 DI2HHALAISE E X 85,000 80,000 5,000
OHMI12a &4k I MTBCHE! W=l XI&
85,000,000& 85,000
AMEI MEHsUE Hx X 48,000 36,000 12,000




2N 2HMSH
N MsNY |4

&??: M XA (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 48,000 36,000 12,000
04 DI2HHALALSE E X 48,000 36,000 12,000
OANZEI MEMSUHS MHE(16HEF)
48,000,000& 48,000
8.15 &=718 =203 Mzl X2 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
08.15 Z=J18 =703 Ma XA
5,000,000& 5,000
23 = KA 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZFSHALAIRI B 10,000 10,000 0
OZd=Usal Mzl XA 10,000, 000& 10,000
Sdda=FU3 HE XA 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
04 DI2ZHHALALSE E X 7,000 7,000 0
O=4d d=AU3 Hxl XN 7,000,000& 7,000
=M Edgdd tHal Mzl XA 40,000 30,000 10,000
307 glz2tol & 40,000 30,000 10,000
04 DI2HHALALSE E X 40,000 30,000 10,000
OHM4sl I MEHLALUHS M=l N
40,000,000& 40,000
FCEE S5FHU d=2=5203 Wz XN 10,000 5,000 5,000
307 gl2tol & 10,000 5,000 5,000
04 DIZHHALALSE E X 10,000 5,000 5,000
OHN4sl SEHsSFAEM 252U Mzl X
2 10,000, 000& 10,000
FLtE s5F&EM =2 5448 2038 s N 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 DIZFHALALSE E X 20,000 0 20,000
OHM23 SESsFH 83 |RaE S20U3
= K& 20,000,000& 20,000
A¥zsZIR 29 550,000 550,000 0
ANZHE 2S8R 29 550,000 550,000 0
301 L2 AF 550,000 550,000 0
Vo=t - 2SRES243 550,000 550,000 0
ONZHZSSYIR 2 (Y4R)
550,000, 000& 550,000
ANl HEs 84 2 MEMSX 569,120 498,801 70,319




25 2
X XH -
(== B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Pl 179,000
< 74,940
Al 315,180
Al M3 29 192,400 139,600 52,800
201 LBt 8,800 8,600 200
01 AtR 2t 4,800 2,800 2,000
ONSNEHAS slolas oo
100,000& »8H x 13| 800
OHMSSA 222 MA L +34|
2,000,000& 2,000
OHENEAMEERH Y22 =5
2,000,000& 2,000
02 2224 H| 4,000 5,800 A 1,800
Oo=2gxg A2l 4,000,000& 4,000
307 QI2t0| & 183,600 131,000 52,600
03 It EESIHEX 183,600 131,000 52,600
OA HM=3 4 X& 139,000
-01H4H|(3H) 120,938,000 120,938
-E &3 Mg 2 8,822,000& 8,822
-HE88d2 S 9,240,000 9,240
OA HM=3 29 XI& 14,000,000& 14,000
OMENEXNEA 29 30,600
-SAXE2 1,650,000 x12& 19,800
-dHZAH| 100,000& x9H ~12& 10,800
MET WA ME82A 20,000 15,000 5,000
307 2Iz2t0| & 20,000 15,000 5,000
04 SIZ2HSHAAISHE E & 20,000 15,000 5,000
OMEISDA L HASSE N
20,000,000 20,000
UBIMEYSKN A X (BSXY) 141,960 135,960 6,000
J| 64,020
o 32,010
Al 45,930
307 212t0| & 141,960 135,960 6,000
J| 64,020
o=} 32,010
Al 45,930
03 QIZIHY P ESIHIEX 141,960 135,960 6,000
OUBIME SN X (B#SXY)
2,366,000 x5 x12& 141,960
J] 64,020
== 32,010
Al 45,930
H2AMENSNEX HX (s KH) 141,960 135,960 6,000
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3 MsaY |4
S9l: Al HSS S8 L MBS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 64,020
= 32,010
Al 45,930
307 i+l & 141,960 135,960 6,000
J| 64,020
< 32,010
Al 45,930
03 QIAHMNHE2IHIEE 141,960 135,960 6,000
ONENMEHSXNESX I (2SKSH)
2,366,000 x5H 123 141,960
J| 64,020
= 32,010
Al 45,930
AEZAHM0IEA X 72,800 72,281 519
J| 50,960
< 10,920
Al 10,920
301 et d = 72,800 72,281 519
Il 50,960
S 10,920
Al 10,920
NMIEEd=s 72,800 72,281 519
OAZ=2H0IED AP (130Z) 72,800,000 72,800
J| 50,960
< 10,920
Al 10,920
HE2LAZH (2SS ) 73,300 66,200 7,100
JI2ZH (23t =) 73,300 66,200 7,100
Jl2Zdl (2 <sa) 73,300 66,200 7,100
201 Let2dE] 17,000 14,000 3,000
01 At 22l 17,000 14,000 3,000
OFRAN2IE AR 22| 17,000, 000& 17,000
202 (44l 48,000 48,000 0
01 S LHOIYI 48,000 48,000 0
OJl2ge+80dl (25Y) 48,000,000& 48,000
203 R =&l 4,800 4,200 600
04 FN2ELRZ=TH 4,800 4,200 600
ORMSLYRFAHI(3021015t)
400,000& 123 4,800
405 XHobF S HI 3,500 0 3,500
01 HatH ESFH S 3,500 0 3,500
OodXt=e 200,000& 104 2,000
OMa ¢ 300, 000& *5H 1,500




